47-9
| | [}
H10
3
2
3
( )
H13 4
6 |H14 5
H15 6
H15
H16 7
17
17 8
1,328 301 1,313 301
1,328 301 1,313 301
0.01 0.02 0.01 0.02
9,000 9,000 9,000 9,000
x 90 180 90 180
1,418 571 1,403 571
(
16 24 14 24
36 16 36 16
52 40 50 40
16 24 14 24
36 16 36 16
52 40 50 40
276 316 366 406
88,625 14,275 100,214 14,275
15 17




47-9

O m 00

O m 00

ocC

OB

O m 0O000ddad

O m 0O000ddad




47-9

16 [ a
16 | |
15 16 17
1,328 379 1,198
2,382 3,082 148 |17
19
3,710 3,480 1,346
124 140 73
353 413 50
1471 2,123
1,348 379 1,218
414 425
5
3,710 3,480 1,346
0 0 0
. 36 11 89
A ()
1,348 379 1,218
99 100 98

)= Q)




